(@

(

\
)
J
@ 6

00 @O

990 DUKE R, white 2025 <2025><JP><F9886YD>
FRONT FORK, TRIPLE CLAMP

Pos Part Number Description Additional Text Quantity
1 AB79C149Y401000 | Fork KTM 990 Duke R 25 1.00
2 A67901032032C1 Bottom triple clamp cmpl. X = 1.00
3 0035080306 AH collar screw M8x30 ISA45 6.00
4 16181R54E Steering damper cpl. 1.00
5 0025080256S HH COLLAR SCREW M8X25 TX40 3.00
6 0015080256S HH COLLAR SCREW M8X25 WS=10 1.00
8 69001084100 Stearing head gasket 2.00
9 69001181000 STEERINGHEAD KPL.17 2.00
10 69001086100 PROT. RING STEER. HEAD BEARING 1.00
11 69001181010 Stearing head rep. Kit 1.00
12 A60701034032C1 Top triple clamp x=32 mm 1.00

77648



14 63601042000 Shim ring 1.00
15 54801036000C1 Steering head screw M20x1.5 WS 1.00
16 5940103903730 HANDLEB.SUPP. D=28MM H=37MM 2.00
17 0032100406S AH-COLLAR SCREW M10X40 ISA45 2.00
18 7720103800030 HANDLEBAR CLAMP 28MM 2.00
19 0025080256 HH collar screw M8x25 4.00




